

U2L3 continued... Adding Polynomials

December-17-14 8:42 AM

Dec. 17, 2014

$$\text{ex 1)} \quad (1x^2 + 4x + 3) + (2x^2 + 5x + 1) = 3x^2 + 9x + 4 \quad \checkmark \Downarrow$$

$$\text{ex 2)} \quad (3A^2 + 2A) + (4A^2 + 3A - 7) = 7A^2 + 5A - 7 \quad \checkmark$$

$$\text{ex 3)} \quad (5x^2 - 3x + 5) + (2x^2 - 7x - 10) = 7x^2 - 10x - 5 \quad \checkmark$$

$$\text{ex 4)} \quad (3y^3 - 3y + 2y^2 + 8) + (-5 - 6y^2 + 2y) = 3y^3 - 4y^2 - 1y + 3 \quad \checkmark$$

Assignment: U2L3 wkst (backside) # 8, 9: A C E G, # 10 i ii /10mks